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= 2,512,797 1,346,237 1,166,560
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< 5,300,232 3,929,906 1,370,326
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FEoge SHEEXZ 74,400 93,600 219,200
= 52,080 65,520 A 13,440
< 6,696 8,424 A1,728
Al 15,624 19,656 A 4,032
301 LEEAF 74,400 93,600 A 19,200
= 52,080 65,520 A 13,440
< 6,696 8,424 N1,728
Al 15,624 19,656 A 4,032
12 J|EtE &= 74,400 93,600 A 19,200
O #doge doE=XIZ
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= 52,080 65,520 213,440
< 6,696 8,424 21,728
Al 15,624 19,656 A 4,032
CHEEE =M AIE B3 5,604,129 3,845,796 1,758,333
= 1,251,000 111,000 1,140,000
< 1,988,500 1,817,500 171,000
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AR E RSESFHEH HE (HEMY) 1,329,000 1,309,000 20,000
=) 870,000 850,000 20,000
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402 RIZ2HXt20l ™ 1,329,000 1,309,000 20,000
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Al 459,000 459,000 0
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O -2 A O/ 8 BAIS KA
23 5,961,000,0002! 5,961,000 3,050,000 2,911,000
= 2,384,400 1,220,000 1,164,400
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olz gyl 35,286 34,966 320
oleie gyl 35,286 34,966 320
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